HKE S L ERECER 1094 12 H BAdRREE BHAT-1

HHA IR TEIfE GH ALy st
109.12.03 | 50200 _ |0 AL $2,500 K B [
109.12.06 50864 | O $5,000 FEEN0/1/1 2B EE
109.12.06 50865 |#ROE $600|  FEEAL10/1/120E s EE
109.12.06 50866 |BNO%% $500 FEEN0/1/12E s EE
109.12.08 50872 |RIOHBH $3,000 K E RS
109.12.11 50873 RO $3,000|  #BEILO/12EEES)
109.12.11 50874  |tROHE $5,000| EBEEETER S
109.12.11 50875 (A O#F $1,000 RS EREM S
109.12.11 50876  |FROIE $1,000| #EEN/12kE R EEE )
109.12.11 50877  |BOBE $1,000| EBH1/1287 RENEELE)
109.12.11 50878 |FEO% $1,000| #EEN/12kE R EEE )
109.12.11 50879  [MRO*E $1,000| #BEI/128 REEGELE)
109.12.11 50880 |EOF $1,000| #EEN/12kE R EEE )
109.12.11 50881 |FRO=E $1,000| EBH1/1287 RENEELE)
109.12.11 50882  |FHOZE $1,000| 4EBH1/128% RENEELE)
109.12.11 50883  |RIOR $2,000|  $EBHU/12bR RENEES)
109.12.16 50884  [EOE $2,000 USRS
109.12.30 50886 RO B $1,000| EBH1/1287 RENEELE)
109.12.30 50887 |BIOFF $500 K EES
109.12.30 50888  |sEOE $1,000| EBH1/1287 REEGLE)
109.12.31 50889 |FFOE $1,000 EREEEEM S
109.12.31 50890  [#5OH $1,000|  4EENL/12kE REEEE)
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TEKE S L IEREECER: 109F 12 H BAEEREIS BHE-2

H A HE 5 TENE = B A=yl fHiat:
109.12.31 50892 | FIHHE $1,000 oK 4| 109/9 F BERK
109.12.31 50893 | FHELSE $1,000 KBS (109710 5 BEK
109.12.31 50894 | FEFNEHZE $1,000 17K B4 | 100/11 F BEZL
109.12.31 50895 | FMEHZE $1,000 K B4 [109/12 F B
109.12.31 50897 O $3,000 (K B4 | 12284k (14
109.12.31 50898  |FOEH $3,000 KBS 122888k B
109.12.31 50899 O $3,000 1K B4 | 122845k (B4
109.12.31 [ 50900 _ |HO $3,000 K EEES (109710 5 BEK
109.12.01 50813 |BROfE $10,000 BB SR A
109.12.01 50814 | EOH $20,200 BEtER A
109.12.01 50816 |ZOFfA $3,000 BBt SR A
109.12.02 50817 | EO#K $500 1B Bh IR L 109711
109.12.02 50818 [#OH $500 1EBHEL K AR (109711
109.12.02 50819 |%=OFH, $500 EBhBEEESS(109/11 H
109.12.02 50820 |4 OTA $500 TEBHREEREE|109/11 A
109.12.02 50821  |#ROE $1,000 B T XERERITTE | 109/11 A
109.12.02 50822 | EOE $500 EBhRR{E (6109711
109.12.02 50823 |BFO#HE $500 B RERE (1097117
109.12.02 50824 |EOH $500 EBhFRARZE(109/11 7
109.12.02 50825 & OHf $500 $EBhAEE)11(109/11 5
109.12.02 50826  |ZEOFK $500 EBhZEH (1097114
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H H#A IR 5 P A BRI EIE et
109.12.15 50827 [BROH $10,000 K [EF 4 [10/28 %1
109.12.15 50828 (A5 O $100 EK RS [1/3%5
109.12.15 50829 [#OTH $200 TE K [EE < (11355
109.12.15 50830 |QEEIRIEN\HUE $1,000 TE K [EFE < 1 /455
109.12.15 50831 O $7,000 EKER S 11/6EH
109.12.15 50832 [FEOE $2,000 TE K [EEL 4 (1171354
109.12.15 50833 |[EO% $2,000 K L | 12/01 515
109.12.15 50834 | EOEL $7,000 K E R4 [12/04 51
109.12.15 50835 |zt $100 KBRS 120885
109.12.15 50836 |[EHO= $200 7K [ F 4 [12/08 %4
109.12.15 50837 [FEOE $2,000 K [EE 4 [12/1 1 514
109.12.15 50838 |EKEFRES $20,000]  EBH109/9/13HFHKES)

109.12.18 50841 |[EO#s $500 1E/KEEE EHF10912H
109.12.18 50842  |BFEdE $300 K RS (S HR109/12
109.12.18 50843 |ZEOFE $300 KBRS (S HR109/12
109.12.18 50844 |BRBIE $500 K B4 | SR 109/12H
109.12.21 50845 |[@EORIBEOH $2,000 FE7KC3
109.12.23 50846  |sRHHME $10,000 f5 E TR B KR
109.12.24 50847 |ZH I KERFCEHRE) $2,000 TE K [EE 4 [12/23%4
109.12.24 50848  |FRO5E $2,500 TE K [EF 4 (122454
109.12.24 50849 |QEEIRIEN\HUE $1,000 TE K [EE 4 [12/165#
109.12.27 | 50850 _ |%=OH $2,000 10012128 R EEAT ks
109.12.31 51188  |&Z(0s A\ +F $3,000 RUKEREE
109.12.31 51189  |&E0s A\ F $3,000 RUKEREE
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